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Ratio Test

We previously discussed the fact that if the absolute value of a series converges, the series converges.

The Ratio Test is a test for absolute convergence.

Ratio Test

Let ) a,, be a series with nonzero terms.

1. Y a, converges absolutely if lim

n—co

an+1

Un

<1

: an+1 . avn+1
2. Y a,divergesif lim >1 or lim = 00
n—co an n—oco an
. .. ] ) ) p+1
3. The Ratio Test is inconclusive if lim =1
n—oco an
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Examples: Determine the convergence or divergence of the following series.
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Apsq , _ _ - .
n = 1 inconclusive? Consider the two familiar series:

Why is the case |im
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